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Dominant Market Power

 Short of a monopoly, a dominant firm
can have some power over prices.
e This can happen because:

- Rivals have capacity constraints.
- Rivals have higher costs.

e This can allow a dominant firm to raise
prices to supracompetitive levels.

« The bottom-line is, you don’t need a
monopoly or a leak-proof cartel to have
the power to raise prices and create
deadweight loss.

21



Dominant Market Power and Mergers

Mergers that don’t create a monopoly can still create
dominant market power.
- This can increase producer surplus, which is good for
the firm and incentivizes the merger.

- This can decrease allocative efficiency, which is bad
for society.

Mergers can allow firms to avoid wasteful, duplicative costs,

and thus create beneficial efficiencies.
- This can increase producer surplus, which is good for
the firm and incentivizes the merger.
- This can increase productive efficiency, which is good
for society.
Gains in productive efficiency can be offset by losses in
allocative efficiency.

If we are looking out for society, we need to figure out
whether a merger raises productive efficiency more than it
lowers allocative efficiency.

Allocative and Productive Efficiency

« Productive efficiency is that we are
being as productive as we can be with
regard to one thing we want without any
offset reduction in producing something
else we want.

 Allocative efficiency is that all
production and consumption is efficiently
allocated.
- Goods go to their highest and best uses.

- Capital and labor go to their highest and
best uses.
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Allocative and Productive Efficiency

“Productive efficiency means that, given
the available inputs and technology, it is
impossible to produce more of one good
without decreasing the quantity that is
produced of another good.”

“Allocative efficiency means that the
particular combination of goods and
services on the production possibility curve
that a society produces represents the
combination that society most desires.”
- POE 2ded- p, 35
(which was not assigned!)
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